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QUESTION 49

Which address is valid in the data link layer of the OSI reference model?

A.    192.168.20.1

B.    09-1B-02-1C-87

C.    07-AB-02-1F-35-C8

D.    172.16.10.12

Answer: C

QUESTION 50

Which two statements describe characteristics of IPv6 unicast addressing? (Choose two.)

A.    Global addresses start with 2000::/3.

B.    Link-local addresses start with FE00:/12.

C.    Link-local addresses start with FF00::/10.

D.    There is only one loopback address and it is ::1.

E.    If a global address is assigned to an interface, then that is the only allowable address for the interface.

Answer: AD

QUESTION 51

The network administrator has been asked to give reasons for moving from IPv4 to IPv6. What are two valid reasons for adopting

IPv6 over IPv4? (Choose two.)

A.    no broadcast

B.    change of source address in the IPv6 header

C.    change of destination address in the IPv6 header

D.    Telnet access does not require a password

E.    autoconfiguration

F.    NAT

Answer: AE

QUESTION 52

Switch A has BPDU fitering configured on all active interfaces. A second switch, Switch B, is connected to Switch A. Which two

actions will Switch A take when Switch B is connected to it? (Choose two.)

A.    Switch A will not send any BPDUs.

B.    Switch A will transition the port a normal spanning tree port.

C.    Switch A will not accept any BPDUs.

D.    Switch A will errdisable the port.

E.    Switch A will start sending BPDUs to Switch B.

Answer: AD

QUESTION 53

An engineer is configuring a new MDS switch. The switch is powered on, the customer connects to the console, and the initial setup

script is started. Which two items can be configured during this setup process?

A.    default port-channel mode

B.    default port VSAN membership

C.    default switch port interface state

D.    default zone mode

E.    default storage VDC
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Answer: CD

QUESTION 54

Which Cisco UCS power policy mode enables a configuration that can tolerate the loss of an input power circuit?

A.    nonredundatnt

B.    Grid

C.    N+1 in normal mode

D.    N+1 in high-density mode

Answer: D
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